Name	Position	Location	Case Management	IEP Meeting	Evaluation	Total	Rate	Cost
Allen, Jamie	General Education Teacher			1		1	\$58.00	\$58.00
Avdiu, Mihana	General Education Teacher					0	\$58.00	\$0.00
Babst, Robert	General Education Teacher					0	\$58.00	\$0.00
Boehringer, Lorraine	General Education Teacher					0	\$58.00	\$0.00
Bulla, Beth Ann	General Education Teacher			1		1	\$58.00	\$58.00
Buonpane, Lauren	General Education Teacher					0	\$58.00	\$0.00
Cibrian, Kelly	General Education Teacher					0	\$58.00	\$0.00
Clark, Ashley	General Education Teacher					0	\$58.00	\$0.00
Coughlin, Courtney	General Education Teacher					0	\$58.00	\$0.00
DeCarlo, Rachel	General Education Teacher					0	\$58.00	\$0.00
DeSena, Michel	General Education Teacher					0	\$58.00	\$0.00
DiPaolo, Michelle	General Education Teacher					0	\$58.00	\$0.00
Duda, Jeanna	General Education Teacher					0	\$58.00	\$0.00
Esteban, Syra	General Education Teacher					0	\$58.00	\$0.00
Feinstein, Christina	General Education Teacher					0	\$58.00	\$0.00
Ferreri, Sharon	General Education Teacher					0	\$58.00	\$0.00
Good, Cynthia	General Education Teacher					0	\$58.00	\$0.00
Grasso, Cierra	General Education Teacher					0	\$58.00	\$0.00
Hall, Eric	General Education Teacher					0	\$58.00	\$0.00
Hedges, Janine	General Education Teacher					0	\$58.00	\$0.00
Hoff, Katie	General Education Teacher					0	\$58.00	\$0.00
Ivy, Marcus	General Education Teacher					0	\$58.00	\$0.00
Lawlor, Christine	General Education Teacher					0	\$58.00	\$0.00
Lawrence, Kelly	General Education Teacher					0	\$58.00	\$0.00
Leonard, Michelle	General Education Teacher					0	\$58.00	\$0.00
McDade, Kathleen	General Education Teacher					0	\$58.00	\$0.00
Morosco, Gineen	General Education Teacher					0	\$58.00	\$0.00
Orogo-Coe, Maria Charito	General Education Teacher					0	\$58.00	\$0.00
Pacansky, Lori	General Education Teacher					0	\$58.00	\$0.00
Rehain, Julianne	General Education Teacher					0	\$58.00	\$0.00
Rupp, Cori	General Education Teacher					0	\$58.00	\$0.00
Szkodny, Jean	General Education Teacher					0	\$58.00	\$0.00
Terebetski, Jessica	General Education Teacher					0	\$58.00	\$0.00

Name	Position	Location	Case Management	IEP Meeting	Evaluation	Total	Rate	Cost
Terrano, Megan	General Education Teacher					0	\$58.00	\$0.00
Vella, Maria	General Education Teacher					0	\$58.00	\$0.00
Vogel, David	General Education Teacher					0	\$58.00	\$0.00
Wagner, Rachel	General Education Teacher					0	\$58.00	\$0.00
Wodeshick, Madeline	General Education Teacher					0	\$58.00	\$0.00
Zorner, Michael	General Education Teacher					0	\$58.00	\$0.00
Zydzik, Linda	General Education Teacher					0	\$58.00	\$0.00
Avdiu, Mihana	Special Education Teacher					0	\$58.00	\$0.00
Beinert, Heather	Special Education Teacher			1		1	\$58.00	\$58.00
Bergfeldt, Susannah	Special Education Teacher					0	\$58.00	\$0.00
Boehm, Kristen	Special Education Teacher					0	\$58.00	\$0.00
Buonpane, Lauren	Special Education Teacher					0	\$58.00	\$0.00
Carnevale, Darci	Special Education Teacher					0	\$58.00	\$0.00
Casey, Kristi	Special Education Teacher					0	\$58.00	\$0.00
Cerbone, Leeann	Special Education Teacher					0	\$58.00	\$0.00
Ciampa, Meliss	Special Education Teacher			2		2	\$58.00	\$116.00
Condurso, Lynn	Special Education Teacher					0	\$58.00	\$0.00
Coughlin, Courtney	Special Education Teacher					0	\$58.00	\$0.00
DeCarlo, Rachel	Special Education Teacher					0	\$58.00	\$0.00
DeSena, Michel	Special Education Teacher					0	\$58.00	\$0.00
DiPaolo, Michelle	Special Education Teacher					0	\$58.00	\$0.00
Dragone, Rebecca	Special Education Teacher					0	\$58.00	\$0.00
Esteban, Syra	Special Education Teacher					0	\$58.00	\$0.00
Feinstein, Christina	Special Education Teacher					0	\$58.00	\$0.00
Fleschner, Kerry	Special Education Teacher					0	\$58.00	\$0.00
Fritz, Kristine	Special Education Teacher					0	\$58.00	\$0.00
Garnett, Alyssa	Special Education Teacher					0	\$58.00	\$0.00
Gelfand, Rachel	Special Education Teacher					0	\$58.00	\$0.00
Giorgianni, Alexa	Special Education Teacher					0	\$58.00	\$0.00
Giorgianni, Dana	Special Education Teacher					0	\$58.00	\$0.00
Gluchowski, Stephen	Special Education Teacher					0	\$58.00	\$0.00
Hall, Eric	Special Education Teacher					0	\$58.00	\$0.00
Hedges, Janine	Special Education Teacher					0	\$58.00	\$0.00

Name	Position	Location	Case Management	IEP Meeting	Evaluation	Total	Rate	Cost
Hoadley, Merritt	Special Education Teacher					0	\$58.00	\$0.00
Horvat, Cvetelina	Special Education Teacher					0	\$58.00	\$0.00
Kogan, Nicole	Special Education Teacher					0	\$58.00	\$0.00
Kutcher, Amanda	Special Education Teacher					0	\$58.00	\$0.00
Loch, Deanna	Special Education Teacher					0	\$58.00	\$0.00
Lynch, Nicole	Special Education Teacher			1		1	\$58.00	\$58.00
McDade, Kathleen	Special Education Teacher					0	\$58.00	\$0.00
McGrade, Jacqueline	Special Education Teacher					0	\$58.00	\$0.00
Morosco, Gineen	Special Education Teacher					0	\$58.00	\$0.00
Orogo-Coe, Maria Charito	Special Education Teacher					0	\$58.00	\$0.00
Pawelek, Lisa	Special Education Teacher					0	\$58.00	\$0.00
Roman, Lauren	Special Education Teacher			1		1	\$58.00	\$58.00
Rupp, Cori	Special Education Teacher					0	\$58.00	\$0.00
Szkodny, Jean	Special Education Teacher					0	\$58.00	\$0.00
Terrano, Megan	Special Education Teacher					0	\$58.00	\$0.00
Tavakolzadeh, Helen	Special Education Teacher					0	\$58.00	\$0.00
Wagner, Rachel	Special Education Teacher					0	\$58.00	\$0.00
Wilkes, Amanda	Special Education Teacher			1		1	\$58.00	\$58.00
Wright, Karen	Special Education Teacher					0	\$58.00	\$0.00
Zalnieratis, Lisa	Special Education Teacher					0	\$58.00	\$0.00
Brock, Deena	LDTC		6	2	49.5	57.5	\$58.00	\$3,335.00
Dughi, Christine	LDTC		1.5	4	44	49.5	\$58.00	\$2,871.00
Grove, Meghan	LDTC		4.5	3	27.5	35	\$58.00	\$2,030.00
Barreiro, Jennifer	Social Worker		7.5		38.5	46	\$58.00	\$2,668.00
Fazzini, Jared	Social Worker		6	3	38.5	47.5	\$58.00	\$2,755.00
Kong, Cecily	Social Worker		4.5	3	11	18.5	\$58.00	\$1,073.00
Rivers, Jimeka	Social Worker		6	2	27.5	35.5	\$58.00	\$2,059.00
Cohen, Jennifer	School Psychologist		27	6	33	66	\$58.00	\$3,828.00
Connor, Taryn	School Psychologist		4.5		27.5	32	\$58.00	\$1,856.00
DeCicco, Alexandra	School Psychologist		1.5	4	16.5	22	\$58.00	\$1,276.00
Hammond, Lauren	School Psychologist		4.5		16.5	21	\$58.00	\$1,218.00
Mendez-Sanchez, Evelyn	School Psychologist		3	2	27.5	32.5	\$58.00	\$1,885.00
Giaraffa, Tara	Occupational Therapist				11	11	\$58.00	\$638.00

Name	Position	Location	Case Management	IEP Meeting	Evaluation	Total	Rate	Cost
Gonzalez, Marisol	Occupational Therapist				11	11	\$58.00	\$638.00
Petrone, Kelly	Occupational Therapist				11	11	\$58.00	\$638.00
Pullman, Sheryl	Occupational Therapist			1	11	12	\$58.00	\$696.00
Tiberi, Debra	Occupational Therapist			3	5.5	8.5	\$58.00	\$493.00
Borrell-DeMaio, Lizbeth	Physical Therapist			1	33	34	\$58.00	\$1,972.00
Celendano, Caitlin	Speech Language Specialist			3	5.5	8.5	\$58.00	\$493.00
Cetta, Danielle	Speech Language Specialist				5.5	5.5	\$58.00	\$319.00
Dean, Bridget	Speech Language Specialist			1	11	12	\$58.00	\$696.00
Dickson, Michele	Speech Language Specialist			1	5.5	6.5	\$58.00	\$377.00
Gallucci, Jade	Speech Language Specialist					0	\$58.00	\$0.00
Lezotte, Julie	Speech Language Specialist				11	11	\$58.00	\$638.00
Santoro, Caitlin	Speech Language Specialist				5.5	5.5	\$58.00	\$319.00
Shultz, Raisa	Speech Language Specialist			1	5.5	6.5	\$58.00	\$377.00
Van Brunt, Jillian	Speech Language Specialist				5.5	5.5	\$58.00	\$319.00
Totals			77	47	495			\$35,873.00